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4\)  OCTOSAURUS
2 Vs
i QCTORILLA

Octosaurus decides to play a trick on Octorilla. He swipes Octorilla’s toys and hides them! Octorilla
has 216 toy trains. Octosaurus decides to bury them in 12 holes. He wants each hole to hide an equal
number of trains. How many trains should Octosaurus hide in each hole?

Octorilla decides to drop some rocks on Octosaurus’s head. He climbs up on a building and empties a
box containing 216 rocks while standing above Octosaurus. Each rock weighs 565 pounds. How many
pounds of rocks does he drop on Octosaurus?

Octosaurus thinks it would be a good idea to rip off Octorilla’s hamburger stashes. He takes 353
hamburgers from one stash. He takes another 432 burgers from another. Finally, he takes 1417 burgers
from Octorilla’s secret stash. How many burgers does Octosaurus swipe from Octorilla?

Octorilla and Octosaurus start throwing cars at each other! Before they start fighting, there are 4375
cars in the city. Octorilla throws 229 cars at Octosaurus. Octosaurus throws 377 cars at Octorilla. How
many cars are left on the lot after the fight?

The monsters decide to stop their squabbling. They are both getting hungry. If a single candy store
has 35 pounds of chocolate, how many candy stores do they need to rip open to get 1365 pounds of
chocolate?
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